Y&G Q3.1.3

Wednesday, October 03, 2012
3:14 PM
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() P[w 4] =F (1) =

1"/ definition of GJ}C
CL) [’[-2 LW S'z.] = Fw(_z) - FNL—z) =1 -

1
)\ “4 q

For continvous RV, Pla ¢X ¢b] = (b)-F (o)
() P[w>0] =1-P{wgo] =1-F (o) = 1-‘7_r=-'f—r
PLA) =1 -PLA®)

(J) P[V\\ 50..] = Fw (). From the p\o‘\' a.\)ove.) we know
Yhat Yo have \:N(_a) =42- , The value of o must
be in the interval (3,5). In this iatevval,

FNLQ_) :-2;1-%(0.‘3) .

So, we solve ‘:ov o Yhe sa.'\'is-‘:ie_s

A 2 (a-3) =1
=% ( ) =3
Revavk : Lt is rossi‘o\c to solve Hnis Pro'o\em )o)/ find inj e

PJ/ First. (I ask yo to derive the ")a/ Ory way

in Q '5.7.."5.)

However, yov shoold alse make sure thet yov krow

how +o evalucte the ‘OvaLaB;liHu above d{rec-l'\)/
{:lom the CAf
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Y&G Q3.2.1

Wednesday, October 03, 2012
3:50 PM

In This csvcs*ion,)/ou ave siven C ':d/ who se exrrcssion has an

unkv\owv\ cons +anT C.

(a) To £iad the constant c, recall that o

ny Pdf should )'n')'uij,‘\'c

Yo 1.
LA Yhis fwo\a\ew\l
o0 2 2 2
j/vaC)Ax. =ch_c‘ac=c8,,¢A,¢=c_a_cf\ -2
- 2 IS
o

This sheuld =1,

=4
T heve Forc) C = 2.

4 1
1
£ = i J =1 2 =4
(o) P[o x ¢1] Sfxi“")‘ Jz’e < Z%lo .
o o
1/2 1/2 12
I x| L4
(¢) F[--’Z-SX $-1?:] z S 71;‘(&)40& z jzxclvc 221, Tie
-1/2 (o)

Auw'=o onl4, o)

r 4
(d) For ee<o, because 7§'<Lb=° for t <o, Fete) = J;{(Lt)ét = 0
o~

-

2 de - t‘)x= s’frf

2 Tro
1.

” a2
For o{xgz) /'x(t) =-';T ond Fx(x.) = J/x(t) dt = S

At e=2, F,l2)=

o 2 x
For e >2 7§Lt) =0, ’Thue-l:am F (£) = j / U-)Jt = 3 (t)a\t + J Lt>e\t =9,
7 7 x *
- oo e 2 (=4
—_—
Fl2) =1 o

ComL;n;nﬁ Yhe three rvesults alove, we hove

o, x40
F (x) ={'/4 o0&rs2,
x

1, other wise.
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Y&G Q3.2.3

Wednesday, October 03, 2012
4:18 PM
G;VC"' Co CA/J we Can -c\'na the Péf b& -\uk;na Jevn'va.'hve.

As discussed i class, for the \oc:.'\'iov(s) wheve Aeviva.\'ivc does not

¢m'sT, we con choote o Ae":i'\c the PJ/' o Le a-y convenient
value,
Ir tis o‘sw-.ﬁ'iomJ tThe cA/ is given ia ¥he -Fo/m o# expressiong

on severol ;'\'\'GVVGL\S. Tris Pher easry Yo £:Ad W devivative
inside each of the iatervals:

ol wk-s}

1/%, -5< W ¢-3
Awr = & FE lw)= ‘
w A o, -34w ¢ 3,

2/€ 34w s,

o, S {w.

Ir should be clear From the F\°+ of cdf ia A%13 1ot Twe
devivative does nor exist ot wr=-5,-3 3 5. We chome +o ass."av\

/‘w(_w) =0 ot these points.

1/8, -5 dwr{-3

(w) = £ 3 {vel
;a ) 3/%, 5
o, otherwisc
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Y&G Q3.3.4

Tuesday, September 07, 2010
2:08 PM

oo Zyz Z—s 2 "
Lo =_Z%ch)47 = 5";‘4/=j£ 3 le © 3

For Yy € I-_OIZ))
/Y(_y) =0 a=d hence
does ~ot affcct tie ;n'\'ej"qj'l.()v\

2
0 o
Y 2

ct0) <[ty = 2+ 2

2 >4
o / o]

Ajo;f\l we Con ;3"0'@—

Fhre )/ whose ;<(L)’) =0.

(o]

verx s O RE e an (3) wam ke f
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Y&G Q3.3.6

Wednesday, October 03,2012
4:37PM

Step 1:
4 o, -5
: : - = =4 VS 5Ll
we Firsr GAd 7{/(\:-) by 7<,(v) = F, . 54 *
o > 7 *
StYep 2

Notice that I leven's specified 7{/(0—) ot v=5%5 ond w= F
Twis is because Tve Formula -FOV thv-) changes

aY fwosre rob\'\'s
Owé \”-CV‘CQ +o actuall

£:,d e devivatives, we would wneed to lobk
ot Loth tre left ond vight derivaties at  trese points.

The 300& news is we don’t hawe Yo £ind twe derivative at w=5
o~d W=7 Recull that e con change  some velves ok £ (v withouY
clnanc:)fr\j its fm{»er‘\-/ ot 'oei«\j f&f. So,

we can “define” or “sevr”® fvl\'—) Yo Y¢ O at Vw5 ond = 3.

This ?;ve 5

vy o =Sl v ATt
Ao = 2
v o oYherwise ,
7 7
(e s )
IEv:j"’———A =4 }v—+5\ré\"=3
*2 ?e
~5 -9
'
(@) 7
ol vl -
Bvie v dv= e
-9
2 P
Var V = rr:[v ] -Qr:v) =8
(c) ?
Y > 24
Ev = |v Y2 d, = 12 -¢6-2
2 9
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